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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.
D C B A Questions / =i A
aJtac=b* ‘a:beIC-'./t:J'V I-1
b ¥4 12 |33 _ I‘Lt'lk"/.-../b:._.._..buynéc 2!
Means Fourth Third Second In continued proportiona fb=b:c,
ac=b* bis said to bé —= proportional
between a and c.
J 7 2
k gz ¢ o Ll : %.H%LE,{KLUU::V{
iy u[i"d// . J[’”‘ g The spread or scatterness of observations
Mode Central tendency | Dispersion Average in a data sc uallllcd
G 66 S L1 40° o135 63 0 |
80° 60° 40° 20° An ate subtends a central e Usooee sl
angleswf 40° then the corresponcfmg chord
l subtend a central angle of
e u_w" - ¥ Ltjfc.$ﬁiff/£njl) 4
* X Through how many non-collinear points,
Four Three Two One can a circle pass :

2 el 2= = 3 3
ax” +bx+c=0, = bx, = bxte=0, :%L){'JJ:{:”JG'-*U[_/(;.J”’
a#0 a#0 b+0 Standard form of quadratic equation is :

cosd sec’ @ 2603 6 2sec’ 0 : = :
1+sind 1-siné
:u,?ZE g;‘*_f’gu_f;ﬁ'{.f_u,;:,a_nz.//,, 7
4 3 2 1 How many common tangents can be
drawn for two touching circles :
v .
u=vk M= Wk u =vk? u = wk? rl-Y_p then : Jn2=Y -k /i :
vV w vV w
T i ML T E:-{)- If :r‘_.:.«,ijlél;xa:b:x:yfi !
* ¥ ; 4 b ¥ & a:b=x:y ,then alternendo property is
2 el — 1110
e 2 1,— w,~w® Lo,~0> ~-L-0-o Wiy
-0 . Cube roots of — 1 are :
£ Wl Ig e s - Lt‘r;!pf/lc_.a./qj‘y bl 11
Place Origin Ratio Value Mean is affected by change in ---- :
Lf‘_,i.; i Y i ;.M%Ldu :ngﬂs:c—,&ﬁidﬁ,cﬁcj;h_{l 12
) wo tangents drawn to a circle [ Jfd_so__
Triple Double Equal Half from a point outside it are of---- in length :
e SISl erm L {1,2,33 |3
9 8 6 i The number of elements in power set of
¥'1,2,3 Y19 ¢
; PR . 3 3 14

/_/"."‘9-13/:& KJUID"" @l 2 /‘:"?[’ x~ +1 5 5 sl x +1

Anf:aﬂ:};ii)orf “ A constant term | Anidentity | A proper fraction | (x—1)(x +2) : T (x-Dx+2)

v 111 I :.r;:.t'nwé.: (-1 . 4) L3 15

II']

Point (— 1, 4) lies in the quadrant :
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(PART -1 J:f.a? )

12 2. Write short answers to any SIX (6) questlons ;o e ez A L iy (6){5&/ 2

(1) Solve by factorization : x?-11x=152 : E2S6F 0 D
(i) Solve the equation using quadratic formula : 2 e S Somrfetss (ii)
6x*~3-7x=0
(iii) Define radical equation. oy S Gil)
(iv) Find the discriminant of the given quadratic equation: Zf(:waﬂ I attlsGisss (iv)

9x? —30x+25=0

) Wnte the quadratxc equation having roots :  —2,3 - 2y, - (j’.m:dl;a’ s, (v)
(2% 475 =) a(x+1) _;éph*dmu-’fw..rafdwff” o (vi)

(vi) Use synthetic division to find the quotient and the remainder whemw(x” + 7x ~ 1)+(x+1)

(vii) Find a third proportional to a’ -34q? :.’ifgr:”" B2 (viD)
(viiD) Define proportion. Ey St (viid)
(ix) Find the fourth proportional to : 8,7,6 &t By (i)

12 3. Write short answers to any SIX (6) questions.: : ¥ ez 2 L iy (6);{4417r 3

(1) Convert the improper fraction into propenfiaction : : ZE fuot S eatlid <2 (i)

6x° +5x° -6
3aF — -1
(i1) Define improper fraction, Ew IS g (G

e A-BIB=W wa=N S (ii)

(i) If 4=N and\B2W Mhen find the value of A-B

EW"Y - X 7 Y ={4,8,12,—— 24} . X ={2,4,6,-~--20} J1 (iv)
Gv) If X ={0,6%—-- 20} and Y ={4,812,——,24} ,then find ¥ - X
(V) fAF{072,4) thenfind A x A Z AxAT A={0,2,4}1 V)

_’c_":rr:l"’b_)fu(j{‘f» U< LxM 9uM={d,e,f, g} sL={a,b,c }/ﬁ (vi)
(vi) If L={a,b,c} and M= {d, ¢e,f g } , then find two binary relations in L x M
(vil) Define mode. “Ey bk (vid)

12,14,17,20,24,29,35,45 & et boifloe 3 borin, (viii)
(viii) Find the arithmetic mean by direct method 12, 14, 17, 20, 24, 29, 35, 45

(ix) For the following data, find the harmonic mean: : :i: r:l”‘ b—:f..féfff @GVJ,J.;&V (ix)
(X T12]5 T8 T4 |
12 4. Write short answers f any SIX (6) questions : : ¥ ez A L ey (6){4.4,;:(
in two right angles? : ?L{,?Lnu':"' gu‘fug:lﬂlp{’ G (D
(it) Find ‘r’, when ¢ =52cm , 9=45° 0=45° ¢« { =52¢m _ﬁé'(,h»_.._ch r’ (i)

(ﬂluﬂﬂ )

(1) How many minutes ar
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4. (iii) Convert 225° into radian. S tgad 2250 Gil) -4
(iv)  Verify that : S;Ez; +cosf = secl D St (V)
(V)" Define zero dimension. il edF V)
(vi) Define tangent to a circle. S owle s (i)
(vii) Define circumference of a circle. Sl (viD
(viil) Define perimeter. _é...éj Y Sobt (viid)
(iX) The length of the side of a S bbb e SIS LU i (0

regular pentagon is 5 cm. What is its perimeter?

(PART -II /350

Note : Attempt THREE questions in all. <419 v Bz Ll f S o?
But question No.9 is Compulsory.
4 5. (@) Solve the equation using quadratic formula : : 25 ¥ J1Z b hnsen- (H) .5
x+2 4-x 1

x=-1 2x 3

4 (b) Prove that : - f?’i'/-.:ft‘ )
x3+y3+z3—3xyz=(x+y+z)(x+wy+a)zz)(x+a)2y+(oz)

4 5= SPL St 5730 (R 1 St e (D) 6
rP—q s+3p@. =3y

6. (a) Using theorem of componendo=dividendo , find the value of
s=3p = s+3q s 4 6pq

s+3p s-3q P—q
: : : 6x> +5x% -7 5 2 Aok
4 (b) Resolve intpattial fractions : = & K S (<)
X =LX =
4 B 1%, 7,10} #A={1,3,579} U={1,2,3,4~10}.01 ()) .7

(B—AY =B U AJSEE =t
7.4€a) W ={1,2,3,4,-—,10} ,A={1,3,5,7,9}and B={1,4,7,10},
then prove that (B—A4) =B'u 4
4 (b) Find the standard deviation "S" : :gr}” "S" A A (&)
9,3,8,8,9,8,9,18

8. (a) Verify the identity : sin3@ =sinf—sinfcos’d  : Zretfebl (D) .8
5 QUST 1L Bt ¥ABC blisnls (L)

(b) Inscribe a circle in a equilateral triangle ABC with each side of length 5 cm.

8 -diuyz,JﬂLiJld:L«‘:,.?//u;"u:fJél}"‘)'n:Ld_.)’lJ/Ifé:.":’-:’-ct" 9
9. Prove that if two chords of a circle are congruent then they will be equidistant from
the centre.
OR ¢

-q..bﬂﬁﬁ:;é_ﬂ};#‘;éo/:fd}'ﬁb‘?@fd;Iﬁ*dsljdf/Uls";;j.c..n/f"d;"u:;/ﬂ)ojfiu:at‘
Prove that the measure of a cent/rai"a{lgle of a minor arc of a circle is double that
of the angle subtended by the gorresponding major arc.
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